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DYNAMIQUE DE ROTATION - INTRO
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MOMENT D’INERTIE DES

CORPS SIMPLES

TABLE 12.2 Moments of inertia of objects with uniform density

Object and axis Picture I Object and axis

]11 MI2 Cylinder or disk,

Thin rod,
about center

about center

Thin rod, /@ mr? Cylindrical hoop,
about end —_— 4 about center

Plane or slab, & Ma? | Solid sphere, about
about center : diameter
D

a

Plane or slab, iMa* | Spherical shell,
about edge / ; | about diameter
D |

Picture I
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Image prise du livre de Randall Kight




MOMENT D’INERTIE

Masse M Masse M

(b) 1, =1, Objet 2
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EXEMPLE k=020 oy

Une masse m = 10.0 kg est suspendue a une corde enroulée autour
d’un cylindre de rayon R = 10.0 cm et de masse M, = 2.00 kg. Une fois
laché, le cylindre est libre de tourner autour de son axe. Déterminez la
tension de la corde, et les accélérations du cylindre et de la masse.
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MOMENT CINETIQUE
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CONSERVATION DU MOMENT CINETIQUE
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RECAP

Symétrie entre les lois de translation et celles de la rotation
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The modSi non-intyitire Subject of 5.01
{(perhaps of all physics) _C A L
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Figure from merriam-webster website



